Surface Area — Prisms

1. What is the surface area of the prism?
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2. What is the surface arez of the prism?
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3. Paul is painting the living room of his house.
He is going to paint all four walls and the
ceiling (not the floor). If his living room is 17
feet long, 13 feet wide and has ceilings that are
9 feet high, what is the surface area that he
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4. A box has a length of 17 cm, a width of 9 cm
and a height of 2.5 cm. In square centimeters,

what is the surface area of the box?
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5. Andrew wants to wrap a box that is 18 inches

long, 10 inches wide and 2 inches tall. How
many square inches of wrapping paper will he
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6. Abby makes boxes from sheets of tin. The
boxes are rectangular prisms measuring 4
inches long, 6 inches wide and 6 inches tall. If
tin costs $.07 per square inch, what is the cost
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of the tin for one box? 0 9(}0*9((03 = 2B
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